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#define pPL 3.14
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#define PI13.14
#define DIAM 10
#define C PI1 * DIAM

int main(int arge, char =argv[])

|
printf("C=3% .1f\n",C);
return 0;
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#define RS



¥ 0¥ i RAesh S G4k o «253 .

fidefine DIAM R + R
#define C PI » DIAM
int main(int argc, char *argv[])
|
printf{"C=% .1f\n",C):

return 0;
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#define PI3.14

fidefine RS

#define DIAM (R+R)

f#define C PT « DIAM

int main(int arge, char = argv[])

|
printf(*C=% .1f\n",C);
return 0;
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#include *stdafx.h"
#define Sl "Hello"
#define S2 "C*
#define S3 "Free!l"
int main(int argc, char »argv[])
|
printf("%$ s % s % s\n",s1,s2,83);
return 0;
|
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#define S(r) 3.4+

printf(*% .2f\n",s(10));
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#define S(r) 3. 14sr=*r

printf(*% .2f\n",s(5+5));
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#define S(r) 3.1ds(r) = (1)

printi( "% .2f\n",5(5+5));
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#include "stdafx.h"

#define ABS(number) ((number) > =07 (number): - (number))

int abs(int);

int main(int argc, char sargv(])

|
printf( " HELITHEII -5 WM} % d\n",aBS( -5));
printf( " RERITHEIIE -5 MABHITN % d\n",abs( -5));
return 0;

I

int abs(int number)

{
return number > =0 ? number : -number;
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#include "stdafx.h"
RIS SE B T 24 44 4 “ sdio. h” B9 3C{F 8 &, EE LS AT LAY
i C S IR P RIS A K 1 28 R 8, B0 prind () WAL . EHBEBME, FR" <
> "R N HAL AR ST R YR E BAS T FHOL 30, ARG | 5 W 16 Ab B 2% 2 e IR
BEAWSEET RS, WRRADHI REHRERBE AR,
£ CiBEBPAHMBEL. W AT 2630, — A H 3L 30, NS B EMT
HERE PE PRSP 8 B eR B LB E S . — X RIS E— 13k X, 35
B A B LN FH LM 2 FHMAN AT, QM4 bl U
1, BN E—A~ A & 0 3 3044 P a) LARI AT #include” 6y 4060 1% Hofth 3k S04 e 264, )
78 C S BREF b n K& A E Sk,
19 -4 WERF, A AE LS PRI KN, B a8,
(1)#E“ main. ¢ WEFF 20 BE2 T 74" max. b" X, AEIF
int max(int,int);
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#include < stdio.h > /7 % V06 .0 IR RZEAT AL M # include
*stdafx.h"
int max(int numberl,int number2) |
return numberl > number2 7 number! ; number2;
}
(3)4£“ main, c” JET P A LTI
#include *stdafx.h"
#include "max.h"
int main(int arge, char *argv[])



